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<?xml version="1.0" encoding="utf-8"?>

<{Relativelayout xmlns:android="http://schemas.android. com/apk/res/android”
xmlns:tools="http://schemas. android. com/tools”
android: layout width="match parent”
android:layout height="match parent”

tools:context=".MainActivity”>

{LinearLayout
android:layout width="match parent”
android:layout height="wrap content”
android:layout alignParentStart="true”
android:layout_alignParentTop="true”
android:layout marginTop="50dp”
android:gravity="center horizontal”

android:orientation="vertical”>

{TextView
android: layout_width="wrap_ content”
android: layout height="wrap content”
android: text="¥ill 3 F| B iF] 57
android: textColor="#000"
android: textSize="30sp” />

{ImageView
android: layout width="50sp”
android: layout height="50sp”

android: layout _marginTop="10sp”

F10m H 16,



(Feh ZumIF R BOR) IRFEBLHR &

android:background="@drawable/logo” />

A=—=IK5-->

{RelativeLayout
android: layout width="match parent”
android: layout height="match parent”
android: layout marginLeft="10sp”
android: layout _marginTop="20sp”

android: layout marginRight="10sp”>

{LinearLayout
android: layout width="wrap content”
android:layout height="wrap content”
android: layout_centerInParent="true”
android:gravity="center”

android:orientation="horizontal”>

{ImageView
android:layout width="50sp”
android:layout_height="50sp”

android:src="@drawable/phone” />

<EditText
android:maxLength="11"
android:inputType="number”
android:id="@+id/login et username”
android:layout width="300sp”
android:layout height="40sp”
android:background="@drawable/frame black”
android:hint="FHL 5"
android:paddinglLeft="15sp”

android:singleLine="true” />

{/LinearLayout>

{/Relativelayout>
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{RelativeLayout
android: layout width="match parent”
android: layout height="match parent”

android: layout _marginlLeft="10sp”
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android: layout _marginTop="10sp”

android: layout marginRight="10sp”>

{LinearLayout
android:layout width="wrap content”
android: layout height="wrap content”
android: layout centerInParent="true”
android:gravity="center”

android:orientation="horizontal”>

{ImageView
android:layout width="50sp”
android:layout_height="50sp”

android:src="@drawable/password” />

<EditText
android:maxLength="6"
android:id="@+id/login et password”
android:layout width="300sp”
android:layout height="40sp”
android:background="@drawable/frame black”
android:hint="%H%"
android:inputType="textPassword”
android:paddinglLeft="15sp”

android:singleLine="true” />

{/LinearLayout>

{/Relativelayout>

<Button
android:id="@+id/login btn_ login”
android: layout width="match parent”
android: layout height="wrap content”
android: layout _margin="15sp”
android:background="@drawable/btn blue”
android: text=""{ik &kt ”
android: textColor="@color/white”

android: textSize="25sp” />
{RelativelLayout

android: layout width="match parent”

android: layout_height="wrap content”>
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<{LinearLayout

android: layout width="wrap content”

android: layout height="wrap content”

android:layout centerInParent="true”

android:orientation="horizontal”>

{TextView

android:
android:
android:

android:

{TextView

android:
android:
android:
android:

android:

<{/LinearLayout>

{/Relativelayout>

{/LinearLayout>

4.2 B 2 Hiid

layout _width="wrap content”
layout_height="wrap content”
text="ibi& K 52"
textColor="@color/black” />

id="@+id/login_tv_goRegister”
layout_width="wrap_ content”
layout height="wrap content”
text=" 7RI
textColor="@color/blue” />
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